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L-¢ openssl rsa -help
Usage: rsa [options]
Valid options are:

-help Display this summary

-inform format Input format, one of DER PEM

-outform format Output format, one of DER PEM PVK

-in val Input file

-out outfile Output file

-pubin Expect a public key in input file //#&EHAMRAH
-pubout Output a public key

-passout val Output file pass phrase source

-passin val Input file pass phrase source

-RSAPublicKey_in  Input is an RSAPublicKey
-RSAPublicKey_out Output is an RSAPublicKey

-noout Don't print key out

-text Print the key in text //UBIXERHEHZESH
-modulus Print the RSA key modulus //# %
-check Verify key consistency

-* Any supported cipher

-pvk-strong Enable 'Strong' PVK encoding level (default)
-pvk-weak Enable 'Weak' PVK encoding level

-pvk-none Don't enforce PVK encoding

-engine val Use engine, possibly a hardware device

74 : openssl rsa -pubin -text -modulus -in pubkey.pem

—$ openssl rsa pubkey.pem

RSA Public-Key: (256 bit)

Modulus:
P0:c2:63:6a:e5:c3:d8:e4:3f:fb:97:ab:09:02:8f:
la:ac:6c:0b:f6:cd:3d:70:eb:ca:28:1b:ff:e9:7f:

be:30:dd
Exponent: 65537 (0x10001)

Modulus=C2636AE5C3D8E43FFB97AB09028F1AAC6COBF6CD3D70EBCA281BFFE97FBE30DL
writing RSA key

BEGIN PUBLIC KEY
MDwwDQYJKoZIhvcNAQEBBQADKWAWKAThAMI jauXD20Q/+5erCQKPGgxsC/bNPXDr
yighb/+1/vjDdAgMBAAE=

END PUBLIC KEY—— https.//blog.csdn.ne
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k=B dBmodulus(+75 it )=
C2636AE5C3D8E43FFB97AB09028F1AAC6COBF6CD3D70EBCA281BFFESQ7FBE30DD
a.Jk il %

OB #9108 ], 82 modulus(+2EHl)=
87924348264132406875276140514499937145050893665602592992418171647042491658461
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87924348264132406875276140514499937145050893665602592992418171647042491658461 ‘ ‘ Factorize!

Result:
status (2) digits number
FF 77 (show) 8792434826..61.77> = 275127860351348928173285174381581152299.39> - 319576316814478949870590164193048041239 39>

Frel, HETRATESH:
p=275127860351348928173285174381581152299
q=319576316814478949870590164193048041239

e=65537
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Z¥rsatool] A, £% hitps://blog.csdn.net/jcbx /article/details/97250664
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python3 rsatool.py -o prikey.pem -e 65537 -p 275127860351348928173285174381581152299 -q 3195763168144789498

—$ python3 rsatool.py prikey.pem 65537 275127860351348928173285174381581152299
319576316814478949870590164193048041239
Using (p, g) to initialise RSA instance

c2636ae5c3d8e43ffb97ab09028flaacb6c@bf6ocd3d7@ebca281bffe97fbe30dd

= 65537 (0x10001)

1806799bd44ce649122b78b43060c786f8b77fb1593e0842da063ba@d8728bf1
p 275127860351348928173285174381581152299 (0xcefbb2cf7el18a98ebedc36e3e7c3b02b)
q = 319576316814478949870590164193048041239 (0xf06c28e91c8922b9¢c236e23560c09717)

Saving PEM as prikey.pem
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#n4-: openssl rsautl -decrypt -in flag.enc -inkey prikey.pem

openssl rséutl flag.enc

PCTF{256b_i5 m3dium}

[EX]

PCTF{256b_i5_m3dium}
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L¢ openssl rsa -help
Usage: rsa [options]
Valid options are:

-help Display this summary

-inform format Input format, one of DER PEM

-outform format Output format, one of DER PEM PVK

-in val Input file

-out outfile Output file

-pubin Expect a public key in input file //#BEBAXHAAE
-pubout Output a public key

-passout val Output file pass phrase source

-passin val Input file pass phrase source

-RSAPublicKey_in  Input is an RSAPublicKey
-RSAPublicKey out Output is an RSAPublicKey

-noout Don't print key out

-text Print the key in text //VNAXERHEHESH

-modulus Print the RSA key modulus //#iH#E$E

-check Verify key consistency

-* Any supported cipher

-pvk-strong Enable 'Strong' PVK encoding level (default)

-pvk-weak Enable 'Weak' PVK encoding level

-pvk-none Don't enforce PVK encoding

-engine val Use engine, possibly a hardware device
i

openssl rsa -pubin -text -modulus -in pubkey.pem



—$ openssl rsa

RSA Public-Key: (256 bit)

Modulus:
@0:c2:63:6a:e5:c3:d8:e4:3f:fb:97:ab:09:02:8f:
la:ac:6c:0b:f6:cd:3d:70:eb:ca:28:1b:ff:e9:7f:
be:30:dd

Exponent: 65537 (0x10001)

Modulus=C2636AE5C3D8E43FFB97AB09028F1AAC6COBF6CD3D70EBCA281BFFE97FBE30DL
writing RSA key

BEGIN PUBLIC KEY
MDwwDQYJKoZIhvcNAQEBBQADKWAWKAThAMI jauXD20Q/+5erCQKPGgxsC/bNPXDr
yigb/+1/vjDdAgMBAAE=

END PUBLIC KEY—— https://blog.csdn.netiweixi
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87924348264132406875276140514499937145050893665602592992418171647042491658461
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87924348264132406875276140514499937145050893665602592992418171647042491658461 ‘ ‘ Factorize!

Result:
status (2)  digits number
FF 77 (show) 8792434826..61.77> = 275127860351348928173285174381581152299.39> - 319576316814478949870590164193048041239 39>

Fibh, HERINAESH:
p=275127860351348928173285174381581152299
q=319576316814478949870590164193048041239
e=65537
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python3 rsatool.py -o prikey.pem -e 65537 -p 275127860351348928173285174381581152299 -q 3195763168144789498
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—$ python3 rsatool.py prikey.pem 65537 275127860351348928173285174381581152299
319576316814478949870590164193048041239

Using (p, g) to initialise RSA instance

c2636ae5c3d8e43ffb97ab@9028flaac6c@bf6cd3d70ebca281bffe97fbe30dd
e 65537 (0x10001)

s
1806799bd44ce649122b78b43060c786f8b77fb1593e0842da®@63ba@d8728bf1

p 275127860351348928173285174381581152299 (0xcefbb2cf7e18a98ebedc36e3e7c3b02b)
q = 319576316814478949870590164193048041239 (0xf06c28e91c8922b9¢c236e23560c09717)

Saving PEM as prikey.pem

FAHEREXETER T (BirsatoolHF) .
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openssl rsautl -decrypt -in flag.enc -inkey prikey.pem

openssl rsautl

PCTF{256b_i5 m3dium}

[&R]
PCTF{256b_i5_m3diumy
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